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π

112  = 121 

122 = 144 

132 =  169 

142 =  196 

152 =  225

162 =  256 

172 =  289 

182 =  324 

192 =  361 

202 =  400

π 3,14

π 
22

7

2 22 ( ) ( )a ab b a b a b+ + = +  +

2 22 ( ) ( )a ab b a b a b− + = −  −

2 2 ( ) ( )a b a b a b− = +  −

2πo r=

2πS r=

 



 



3 1 5 3 2
2 : : : :

2 2 6 4 3

   
+ =   

   

,
13

1 4
10

2 1

15 6

−

=

+

2

4

a
a
 

− = 
 

29 16a − =

( ) ( ) ( )– 5 2 – 3 – – 2 3 – 7c c c c c c  =

 



( ) ( ) ( )
2

–2 4 – 3 1 2 – 3x x x x= +  + 

3 2
6 2 4
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y
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−  =

 



 



 



 





 





 




